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T [ T & L W W
2400 X 1100mmRCAK v/ AN =M% L.
RCHK v AN — AT 3% T
PEARAE m 50.125
BATBIE R m 50.125
K9 IAHN = 2400 X 1100mm
e 2000mm 8 25
PN =N ILfisE T
a7 —RL 18N/mm2 m3 28.87
T 0L m2 20.1
P FarE T RC-40 t=25cm m2 149.4
LAV T 1:3 t=20mm m3 2.8
+T
PEH] T
Ny 7R dEE] T 0.8m3 m3 478.8
WERLT
A HHRELT m3 288.2
¥ AT
I3 7R PR IA 0.8m3 m3 158.6




1 ff 1k HLAT =
WAHE T
B8 A I
A e = FHE ¢ 200 m 5.4
e D216.3,t4.5 kg 126.4
KHEHEAK A
AXIE T I % 1] 3
=N E
HIFL T ¢ 200mm T FIT 3
CoHl 545 1. ] m3 0.03
Phisa 7 —RT
a7 —k T 18N m3 0.16
AR T
T 7 m2 1.8
i I
PERRK L T
a7 —hEEL T EENE) m3 11.5
a7 —REEL T 4HE m3 7.0
ISRk T
= ER A mmAH 1.524 X 6.096m t=22mm m2 595.8
B e 64
i t 102.66
IKFRT.
T L m2 1.0
IKFRR T = 1.0




HOH e X K O K &=
1. Ry 2z 24T (2400 X 1100 X 2000mm, [X53@1. 25<B=2. 5m, 0<KH=1. 25m)
1—1. Ry 7 ARHIEE = 50.125 m
fRIER 53. 273-1. 299 = 50. 125 m
1—2. Ry 7 2 E K
N= 2400 X 1100 X 2000 : {2 %k = 25 1
1—3. Ry AL
FEMEIER: 50. 125 = 50. 125 m
27 U— F|18N/mm2  t=20cm
V= 2.880%0. 200X 50. 125 = 28. 87 m3
AP T |4
S=50. 125X0. 200 X 2 = 20. 05 m2
WA F5 A |RC-40, t=0. 25m
S=2.980 % 50. 125 = 149. 37 m2

VIV BEA1:3t=0. 02m

V= 2. 780 X50. 125X 0. 02 = 2.79 m3




(2)

H H B X K N E X B &
2. +T
2—1. #EIL Ny 7 3 7 HEAN0. 80m3
V= (3. 78+5. 283) /2 X 2. 505 X 50. 125 569. 00 m3
m3,/m
PERE I V= 1.80X50. 125 -90. 23 m3
478.77 m3
2—2. MELT (G&4+)
PR 1 V= (3. 78+5. 283) /2 X 2. 505 X 50. 125 569. 00 m3
PERRAR > 7 A V= 2. 780X 50. 125X 1. 520 —-211.81 m3
PERRALAE ) =} V= 2.880X50. 125X 0. 200 -28. 87 m3
PERR L V= 2.980X50. 125X 0. 250 -37.34 m3
PERRE L X L V= 2. 780 X 50. 125 X 0. 020 -2.79 m3
288.19 m3
2 —3. TWEWRT
B - T ME+H//0.9
V=288.19 = 0.9 320. 21 m3
¥R E M L V= 478.77 478. 77 m3
2 —4. o
V= 478. 77-320. 21 158. 56 m3
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H _H B X K N E X B &
4. BfHELT
4—1. Bk L
B EE@ T | 0 200mmA5{H] (GEE: : 1.728m) = 2 {@
& 200mmZEfR] GEF: : 1.920m) = 1 A
B 3
ViThr il L= 1.728X2-+1.920 = 5.38m
— A P 1 SR SRR N= 5. 38 X 23. 5kg/m = 126. 43 kg
D216. 3, t4. 5
4 — 2. HmHEAK DR
I R = 2 &
I A=A = 1 {#
H 3 &
4—3. 27— MHIFLLT
e V= 71/4%0.25072 X0.190%3 = 0.03 m3
SRAHCoH T WLsy V= = 0.03 m3
4—8. fii#E=7U—F
18N V= (0.500X0.500 — 0.216°2X 7 /4) X0.250%3 = 0.16 m3
4—9. AT
A7 S= (0.500X0.500 — 0.216°2X 7 /4 + 0.250X0.500X3) X3

1. 77 m2
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H H 1S K Y HE K ¥ &
4. fHHELT
4—1. BERRKKEL T
2L BERR KD V= 50. 13X 0. 23= 11.53 11.53 m3
MR- BERR KO V= 50. 13X0. 14= 7.02 7.02 m3
4— 2. HEPRL 1. 524 X 6. 096m t=22mm
X Pk A S= 1. 524 X 6. 096 X 64 595. 75 m2
K N= 64 ¥
B W= 64X1.604 102. 66 t
4 — 3. EERTOKETL)
TEEE T A= 1 m2
KRR 7 1=




	タイトル
	布設図
	集計表
	数量計算

